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2=(f(x)=3x+1)

4 ,
3= (f(x) =;]

4=(f(x)=24/x)
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, No02 =
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I=(f(x)=3x"+5x-3)
2=(f(x)=6x=5) I=[f(x)==5+3x,a=3]

_ 3
.3:(f(x)=%J > Nol2 .2=[f(x):—2,a:1}
X

4=(fx)=44x)
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) ] P
d=(f(x)=3x"+5x-3) 2=(fx)=6x-5) %
_ h T3 42 _ __ﬂ 3.3 EJ S
I=(f(x)=2x"-x —-4x"-3) .4—(ﬂx)—3x +6x+3 sl
| | 1 &
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N003: 2 2 x * i 5 a
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9 (ﬂ ) x+3J 10 [ﬂ ) 2x7+5x] h
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7 3 2
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d=(f(x)=4x"+2x+1)
2=(f(x)=3x-1)

2
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No0Ol =

4=(f(x)=44/x)

d=[f(x)=2x"-3,a=3]

No02 =
. . No .2:[ }

_ _ P
d=(f(x)=4x"+2x+1) 2=(f(x)=3x—-1) Vv
5
3=(f(x)=5x+3x"-4x" -3 _4:(f == 4= __J S
(f(x)=5x X X X) (x) Sx 2x p sl
3 1 (3/5) 1 (5/3) &
.5:(f(x):5«/;+x+$] .6:(f(x):m+x ITERE a7
No03 = ) ’ ) . a
T=(fx)= (5 +x=3)(5x+1)) 8=(fx)=(x =2)(x-5)) t
0 (f() 2x+3j 10l ) 4x°-5x L
I=1(x)= A0=(x)=—"""F"
5x-3 ﬁ @
4 1 , W | x+4 M
Al=f(x)=|—7+—"1(3x"+5) A2=f(x)=(4x" —-5x) U
L XX x+3
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2
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3)
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4=y =52 ]

I=(f(x)=4x"+x+4)

3=(flx)=2x"-5x-3x"-1)

.5=(f(x):%—3 X —xj
X

No03 = ) )
=(f(x)=3x"+2x-3)(5x"+5))

M

f 1 (1/3)
0= ="73+"55 T G52 T
x x X

§=(f(x)=(x—2) (4/x = 5)) ’

[ L)
A2=f(x)=(5x+3x")| ——

I=[f(x)=5x+1,a=5]

2 = 6
» NoO .2={f(x):—2,a=3
x

2=(f(x)=5x+2)

2, 3 5
A=f(x)=—-x ——x+~
5 4 6

1 1

( x7—3x3]
A0=\f(x)=—""F"

x

x—1

1
1

NSRS XB NN T

2
A={f(x)=—=-34x—-x,a=1
NoO4 = {(x) «/; X —Xx,a }

2=[f(x)=2x*-5x-3x"-1,a=2]

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXXKKXXXKKKXKXXXKKKXKXXXKKKXXXKKKXKXXKKKKXXKKK XX KKKK XX KKK KX KKKK XK KKK KKK KKK XKKKK



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKX XXX XXX XKX XXX XXX XXX XXX XXX XXX KKK XXX XXKXXKKXXKXMO6/1-6800506-00022XX

Diff02 for No.11154
d=(f(x)=4x"+x+3)
2=(f(x)=3x"+5)

4
3= (f(x) :;]
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4=(f(x)=44/x)
d=(f(x)=4x"+x+3)

3=(f(x)=5x"+4x +3x"—4)

M

5 (f( )= 4 = ) 6 (f( y=x 4 t 1 e
D= X)= X —X 0= X)=X 5/3 3/5 X
/x x( ) x( )

2= (f(x) =(2x +x") {MD

d=[f(x)=3x"+4,a=4]

No(2 = 6
O .2=[f(x):—2,a:-2}
x

2=(f(x)=3x"+5)
1

5 1
.4:(’[“()c)=_)c4——x3 —_sz
4 2 5

8=(fx)=(x +5) (x+2)) ’
.10=[f(x):4

x5—3x3]
Jx

x—1

No03 = ) )
T=(f(x)=2x +x+5)(x"+5x))
9_(f _1—4xJ
== x+5
1 2
.Ilz(f(x):(—5+—3](3+5x)j
L X X
No04 =
0022]
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d=(f(x)=3x"-4x-1)
2=(f(x)=3x"+5)

2
3= (f(x) =;]

No0Ol =

A=[f(x)=3x"-2,a=3]

No02 = 4
S .2={f(x):—2,a:2}
X

4=(f(x)=34/x)
d=(f(x)=3x"-4x-1)

3=(f(x)=2x"+3x"+x =2x)

2=(f(x)=3x+5)
1

5, 1,
4= f(x):gx —gx +5

T

P
14
S
S
2 (1/4) 1 1 (3/4) &
.5=(f(x):ﬁ+5x—3ﬁ] .6={f(x):x +x(1/4)+x(3/4)+x "M
No03 = ) , a
T=(fx)=(=4+3x) (X +5x+1)) 8=(fx)=(x+1)(x=5)) t
0 (f() 1+3xj 10=| fx) x—4x h
g = X)= . = X)=
5x-4 Ax @
2 5) s, x+1 M
Al=f(x)=| S+ |(x +1) A2=f(x)=(x"-3x")| —— U
L X X x+2
L T
1=|f(x) 2 5x-3 4
A=1(x)=—F/—+5x—- X,a=
No04 = Ax
2=[f(x)=2x"+3x"+x -2x,a=-2]
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L I=(fx)=xX+4x+5)]

2=(f(x)=2x"-1) I=[f(x)=5x"+3,a=4]
NoOT = .3:(f(x)=gj > No02= .2:{f(x):%,a:2}
X X
4=y =42 ]
_ _ i __}3__ l
d=(f(x)=x"+4x+5) 2=(f(x)=2x"-1) v
.3:(f(x):2x7+3x4—5x3—2x2) .4:(f(x)=§x3—§xz+§J __g__
.5=(f(x)=«/;+2x+i] .6=(f(x)=x(2/5)+—(11/5)+x(1/5)+x(5/2)J ——fl——
x .
No03 = ) ) , , a
T=(fx)=4x"+x+1)(4x* +x)) 8=(fx)=(x-3)(x +5)) .
9—(f B 5—xJ ]0—[’[“ _x7+5 h
2= =5 A0=| ftx) = Jx @
e e R E )[2) v
A= fx)=|"+75|(x +5) A2=f(x)=3x+5x)| —— U
L X x x—=2
L LL7l)
d=[f(x)=2x"+3x"-5x-2x% a=-2]
No04 = 5
2=|f(x)= 2x+—=,a=1
{(x) «/;+ x+ﬁ a }
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- - 5
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9_(f i} ,0_(f i} h
== A0=| 1)y =""1 @
5 2 A s a ] x+5 M
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2=(f(x)=4x+1)

6
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4=(f(x)=24/x)
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No03 =
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4 I
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f(x)=2«/;+5x—%,a:1}

d=[f(x)=5x+1,a=2]
No02 = 5
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X

2=(f(x)=4x"+1)

2 5 1
.4:(f(x):§x5 ——x4——x3j

3 6
(5/3)}
+ X

(3/5) 1
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X
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X X
4=(f(x)=34/x)

_ _ T ell
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‘ ‘ 37 476 LS
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N003: 2 ; * i ’ a
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) B | v
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L X x x+5
T
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- 5
No04 2=f(x)=—/—=+x-3 x,a:4}
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Diff02 for No.12689
d=(f(x)=3x"+2x-5)

2=(f(x)=4x"=3)
No01 = ‘3:(%):3]
X

(1/3)

d=[f(x)=6x"-1,a=6]

M

2 = 6
» Vol .2:[f(x):—2,a:1
x

1
1

L 4=(f(x)=4x )
_ ; [ P
d=(f(x)=3x"+2x-5) 2=(flx)=4x"-3) %
3=(f(x)=5x"+x"-2x" -4 4= f(x):§x3+§x+%J :Z
1 1 1 &
.5:(ﬂx):2x+iz:—44;j '6:(ﬂf)=xuu)+—g;5+xﬁn)+—57;] A
No03 = ) , § o o a
T=(fx)=(4x" +2x+1)(x" —4)) .8=(f(x)=(ﬁ+2)(x—1)) ;
9_(f _5x+1j 0-le S 3-2y )
=S A== o
31 5 . s | x+4 M
H=f(x)=| "+ |[(x +4) A2=f(x)=3x"+4x") : U

1
d=|f(x)=2x+——=—4d4/x,a=1
No0O4 = [(x) * Ax £ }

7., .6 4 2
2=[f(x)=5x"+x -2x —-4x",a=-2]
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Diff02 for No.13349
d=(f(x)=4x"-3x-1)
2=(f(x)=3x"=2)
6 D = 6
(f(x)z—j > INoD [f(x)_— a=-3

=[f(x)=6x"-1,a=3]

No0l =
X

4=(fx)=5x") | o

2=(fx)=3x"-2)

1

d=(f(x)=4x"-3x-1)
.3:(ﬂx):3x7+5x3+2x+5)

(f(x) 3x— [ 3[}
T=(fx)=(4x>+x+1)(x+5))
( 5+3xj
= f(x)=

Sx-2
5 4 5
Al =|f(x)= ;+; Bx+1)

No03 =

= f(x —Sx 3x
1 M/ﬂ
u/n

(f(X)

.8=(f(x)=(ﬁ+1)(x—5>)

=

3

- (f(x) =

3

+ =

3

4
1

<)

(5/4)
X

X

X —X

(ﬂx) (5x +x)[

x+5

-1

ﬁ/M]
- t+tX

J

1

NQX@T~-"2 XRRuuST

[
T

d=[f(x)=3x"+5x+2x+5,a=-2]

1
:[ﬂx):3x—grr—3 x,a=4}
X
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Diff02 for No.13519
d=(f(x)=4x"+x-3)
2=(f(x)=4x"+5)

A=[f(x)=3x-1,a=6]

NoO1 = 2 . No02 = 5
¢ .3:(f(x):—j ¢ .2:[f(x):—2,a—-3}
X X
4= (fx)=5+x)
B 2 3 B I __1)__ |
A=(fx)=4x"+x-3) 2=(fx)=4x+5) v
1 . 4.5
3=(fx)=5x -3x -2x"+3 .4:(1‘ ==X 4= 3+—J S
(f(x) X b X ) (x) 5x Sx 4 | s
5 1 1 (2/3) 1 &
.5=(f(x)=ﬁ—x—2«/;] -5={f(x): 23 T Gy T (1/3)J A
No03 = ) , * * g . a
T=(fx)=(2 P2 +x) (42 +2x+1)) 8=(fx)=(x-3)(Wx -2)) t
, (f() 2x+3j " (f() 5x5+4x7] h
9=1(x)= A0=|f(x)=—"F—
x=3 Jx @
12, . [x+3 M
] Al =|1f(x)= x3+x2 (3x +4) A2=f(x)=(3x" +4x) > U
L Ll
d=[f(x)=5x-3x-2x"+3,a=-2]
_ 5
No04 .2:[f(x):T—x—2«/;,a:1}
X
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Diff02 for No.l14276
d=(f(x)=3x"+2x-5)

2=(f(x)=6x+1)

A=[f(x)=5x"-4,a=4]
_ _ 6
NoO1 3= (f(x) =i] o Ne0Z= :[f(x) -—a= -3}
X X

4=(fx)=24x) |

: ; P
I=(f(x)=3x"+2x-5) 2=(f(x)=6x"+1) y
3=(fx)=4x"-3x"-5x"-4x) .4:(f(x)=§x4+§x+éJ __i__
.5:(f(x)=4x—%+4«/;J .6=(f(X)=x(2/3)+—(31/2) (1/3)+x(3/2)] --iz["

No03 = , , ¥ : a
T=(fx)=2x" +4x)(4x +x-2)) .8:(f(x):(«/;+3)(x+4)) /
9—(f —4x+3j 10—(f —sz] h
9= (x)—Sx_2 A0=|1(x)= «/; @
( (2 SJ X J ( 2{x+3D M
Al=f(x)=| 5+ |(x +4) 2= f(x)=(x-2x")| —— U
L X X x+5
L LL7Td)
d=[f(x)=4x -3x*-5x"-4x",a=2]

No04 = { 5
2= f(x):4x—T+4«/;,a:1}
X
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Diff02 for No.14380
d=(f(x)=4x"-x+5)
2=(f(x)=3x-1)

5
3= (f(x) =;]

No0l =

4=(f(x)=24/x)
d=(f(x)=4x"-x+5)

3=(fx)=x"+3x+x"+3)

.52(f(x)=3«/¥+%+4x}
X

M

(1/6) 1
b= f(x)=x + X + X + 5o

.]2:(f(x):(5x3+2x2) x+4D

I=[f(x)=6x+5a=2]

No02 = 2
YO .2:{f(x):—2,a:3}
X

2=(f(x)=3x-1)

4 . 5, 1
4= ﬂx)zgx —gx )

(5/6)  (6/5)

X

8=(fx)=(x+3) (Wx +5))
.10=[f(x)=2

o

Lx—1

No03 = 5 5
J=f(x)=(4x"+4x+1)(3x +3x))
9—(f __x+4J
T (xy_3x—5
=5 o)
A= f(x)= —~+3 (5x +4)
L X x
No04 =
0032]
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5 3,2
2=[f(x)=x"+3x +x"+3,a=-2]]
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X
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Diff02 for No.14393
d=(fx)=2x"-x+2)

2=(f(x)=5x"+3)

3=|fx)="—
X
4= (flx)=4+x)

d=[f(x)=2x+1,a=3]

No(2 = 6
O .ZZ{f(x):—z,a:2}
x

No0l =

d=(f(x)=2x"-x+2) 2=(f(x)=5x"+3)

3=(f(x)=3x"-4x -x"-5x) 353

[
[
L
L

55 4, 3
A=f(x)="x +"x +Zx

No03 = 5
T=(f(x)=2x+5)(3x +5x+1))

3 1
-5=(f(X)=3«/7—5x+T] ,6:{f(x): (1/6)+x(6/5)+x(1/6)+x(5/6)] )
X X

8=(fx)=(x=5) (x - 1))

P (f() 5x5+4J

A0=|1(x)=

Jx

.12=(f(x)=(2x4—x5)[ﬁD
+5

X

4-3x
,9:(f(x): 3x+2J

3 2 5
Al =|1f(x)= ;+; (x"+4)

NSRS~ X

3
A=f(x)=34x-5x+—"FT=,a=1
No04 = Al x
6 5 4
2=[f(x)=3x -4x —-x —-5x,a=-2]
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